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Notes

Solution:
Statement showing total cost of production

Details Amount
(Rs))
Direct Material: Material Consumed 90,000
Direct Labour: Productive wages 32,000
Direct Expenses 9,000
PRIME COST 1,31,000
Factory overheads 25,000
FACTORY COST 1,56,000
Office and administration overheads 18,000
TOTAL COST OF PRODUCTION 1,74,000

Cost of goods sold

It is not necessary, that all the goods produced in a period are sold in the
same period. Thereis stock of finished goods in the opening and at the end
of the period. The cost of opening stock of finished goods is added in the
total cost of production in the current period and cost of closing stock of
finished goods is deducted. The cost of goods sold is calculated as.

Cost of goods sold = Total cost of production + Opening stock of
Finished goods — Closing stock of finished goods

[llustration 5
From the following information calculate the cost of goods sold.

Rs.
Total Cost of Production 1,22,000
Opening stock of finished goods 12,000
Closing stock of finished goods 16,000

Solution:

Cost of goods sold = Cost of Production + Opening stock of Finished
goods - closing stock of Finished goods

Cost of goods sold = Rs.1,22,000 + 12,000 — 16,000 = Rs.1,18,000
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MODULE - 68

Elementary Cost Accounting

Total Cost i.e, Cost of Sales

If selling and distribution overheads are added to the total cost of
production, total cost isarrived at. This cost is also termed as cost of Sales.
Hence the total cost is calculated as:

Total Cost = Cost of Goods sold + Selling and distribution overheads Notes

[llustration 6
From the following information calculate the total cost.

Rs.
Direct materid 1,60,000
Direct Labour 52,000
Direct Expenses 19,000
Factory overheads 45,000
Office and administration overheads 28,000
Selling and distribution overheads 33,000
Solution:
Statement showing total cost
Details Amount
(Rs)
Direct Material: 1,60,000
Direct Labour: 52,000
Direct Expenses 19,000
PRIME COST 2,31,000
Factory overheads 45,000
FACTORY COST 2,76,000
Office and administration overheads 28,000
TOTAL COST OF PRODUCTION 3,04,000
Selling and distribution overheads 33,000
Total cost = cost of saes 3,27,000
Sales

If the profit margin is added to the total cost, sales are arrived at. Excess
of sales over total cost is termed as profit. When total cost exceeds sales,
it is termed as Loss.

| Sales = Total Cost + Profit |
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